
Multiply by 10⁻² (H)Find each product.
96 × 10⁻² = 91 × 10⁻² =
39 × 10⁻² = 13 × 10⁻² =
28 × 10⁻² = 55 × 10⁻² =
13 × 10⁻² = 67 × 10⁻² =
88 × 10⁻² = 97 × 10⁻² =
33 × 10⁻² = 88 × 10⁻² =
49 × 10⁻² = 27 × 10⁻² =
91 × 10⁻² = 20 × 10⁻² =
98 × 10⁻² = 46 × 10⁻² =
71 × 10⁻² = 73 × 10⁻² =
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Multiply by 10⁻² (H) AnswersFind each product.
96 × 10⁻² = 0,96 91 × 10⁻² = 0,91
39 × 10⁻² = 0,39 13 × 10⁻² = 0,13
28 × 10⁻² = 0,28 55 × 10⁻² = 0,55
13 × 10⁻² = 0,13 67 × 10⁻² = 0,67
88 × 10⁻² = 0,88 97 × 10⁻² = 0,97
33 × 10⁻² = 0,33 88 × 10⁻² = 0,88
49 × 10⁻² = 0,49 27 × 10⁻² = 0,27
91 × 10⁻² = 0,91 20 × 10⁻² = 0,2
98 × 10⁻² = 0,98 46 × 10⁻² = 0,46
71 × 10⁻² = 0,71 73 × 10⁻² = 0,73
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